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As O,lWO,ljS, it is not necessary lo Print oul all of these slides so
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OMS: Quick J:ire round of number bonds to 20 encouro,g'mg rapid answers giving the

matchmg number! )
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Number bOndS l'O 20 QUiCI( inl'er(lCl"We game. Hklps://www.kolpmarks.co.uk/maths—games/hlk—khe—buHon



https://www.topmarks.co.uk/maths-games/hit-the-button
https://www.topmarks.co.uk/maths-games/hit-the-button

WALT: Solve one—slep Problems involving division, bg calculaiing the answer using concrele objecis or 3

Piciorial represenlalions.

How are you 9oin9 io so[ve ihese clivision Problems?

(TIP- Draw your circles for the number you are dividing bH and use Posla/morbles lo share)
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um*ﬂmr amwers in fhe bores Fﬂ&dd A .”.“‘.LT S-nlve me—&lep Ffﬂl!llﬁ'll.ﬁ m\'{sluinﬂ divisi.un, |:1IH mlr.ulnl'l.nﬂ H’m answer us'mﬂ Ficl'nriul
! B+ 2 reFresenlul:i-ms
Draw your own PurL wha:lle IIWCI-ElE |;::l |1:El|:- you wor|c uul YOur answers.
b+7=
z 5 = 2=
[2+2=
9-+3=
[2+3-
3 5 = 3-
I5+3=
l6+4=
& Z = 3=
5. 5= 5=




reFreﬁenlulrims

Draw your own park whole models o help you work oul your answers
8+2=
|4+2=
[2+2=
[2+3=
18+3-=
15+3=
B+4-=
A
16+4=

J0+b=



Plenarg:

Kagleigh I’lOS |8 J.‘IOWCI’S lO share belween 3 vases equoug.

HOW mong J.'IOWGI’S can be PUl in GOCI‘I VOSC?




